CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges.	. See Invoice for actual schedule and charges.
, Laura Kollappallil	, hereby request station time as follows:
I IDENTIFY CANDIDATE TYPE	ERAL CANDIDATE TE OR LOCAL CANDIDATE
ALL QUESTIONS/BLOCI	KS MUST BE COMPLETED
Candidate name:	
Edward M Lamont	
Authorized committee:	
Ned for CT	
Agency requesting time (and contact information):	
N/A	
Candidate's political party:	
Democrat	
Office sought (no acronyms or abbreviations):	
Governor	
Date of election: Nov 8 2022	General Primary
Treasurer of candidate's authorized committee:	
Eloisa Melendez	
The undersigned represents that: (1) the payment for the broadcast time requested has been for the candidate listed above who is a legally qualified cand the authorized committee of the legally qualified cand (2) this station is authorized to announce the time as paid for (3) this station has disclosed its political advertising policies, in and other sales practices (not applicable to federal candidate)	andidate, or didate listed above; by such person or entity; and notuding applicable classes and rates, discount, promotion
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DIS IN THE PLACEMENT OF ADVERTISING.	CRIMINATION ON THE BASIS OF RACE OR ETHNICITY
Candidate/Committee/Agency	Station Representative
Signature: Laura Kollappallil Digitally signed by Laura Kollappallil Date: 2022.03.18 11:45:48 -04'00'	Signature:
Name:	Name: 52 Golde 1. 1)05 /2/L/
Date of Request to Purchase Ad Time:	Date of Station Agreement to Sell Time:

to an opposing candidate or, if it does, (2 for a duration of at least four seconds and the candidate approved the broadcast a	e broadcast matter to be aired pursuant to contains a clearly identifiable photograph d a simultaneously displayed printed stater and that the candidate and/or the candidate ains a personal audio statement by the can didate has approved the broadcast.	or similar image of the candidate nent identifying the candidate, that o's authorized committee paid for the
Candidate/Authorized Committee/	Agency	ü
Signature:		
Name:		
Date:		
тс	BE COMPLETED BY STATION OF	ILY
Ad submitted to Station? Yes Note: Must have separate PB-19 Fore	No Date ad received:	
Federal candidate certification signed (ab	oove): Yes No	N/A
Rejected – provide reason:	not yet received to determine sponsor ID	
——————————————————————————————————————	omptly upload updated final form when co	mpiete.
Date and nature of follow-ups, if any (e.g.	., insufficient sponsor ID tag):	
Contract #:	Station Call Letters:	Date Received/Requested:
Est. #:	Station Location:	Run Start and End Dates:
use this space to document schedule of t purchased or attach separately. If station	affic system print-out) or other documents ime purchased, when spots actually aired, will not upload the actual times spots aired information immediately should be placed	the rates charged and the classes of time until an invoice is generated, the name

	REVISE	D
	Oct 24, 22	
ONT#	36222180 Mod# Ver# 3 (Last =)	DDS CONT# 0
EP	KATZ RADIO	C/P/E: NLCG / NLCG / 2415
0	WEZN-FM (Bridgeport, CT)	
М	PATRICK MCGEE	
FF	PHILADELPHIA	SALESPERSON FAX#
GY	ASSEMBLY - NY	
DDR	ONE WORLD TRADE CENTER FLOOR 67	PH#
	NEW YORK, NY 10007	
YR	DANA KAZERMAN	
ΟV	NED LAMONT FOR GOVERNOR	
T	NED LAMONT FOR CONNECTICUT GOV	
_T	Oct 25, 22 - Oct 31, 22	

^{*} REP ORDER COMMENT *

** 10/21/2022 5:31:00 PM: THIS IS A REVISED ORDER. DO NOT DOUBLE BOOK. PLEASE CONFIRM WITH CYNTHIA.FERRAZ@KATZMEDIA.COM

МС	LN	DAYS	TIME	LEN	EFFECTIVE DATES	# OF Day	NPD	RATE	TOT SPTS
	1,1	FLIGHT 1	6A - 10A	60	10/25/2022 - 10/25/2022	1D	3	\$130.00	3
;AM	 DRIVE	1	1			'	1	*	
•	1.2	.т	10A - 3P	60	10/25/2022 - 10/25/2022	1D	3	\$105.00	3
;MII	DDAY			i		l			l
	1.3	.T	3P - 7P	60	10/25/2022 - 10/25/2022	1D	3	\$140.00] з
;PM	DRIVE	1	1	, ,					
				** FL	I LIGHT TOTALS **	!	9	\$1,125.00	:
		FLIGHT 2							
	2.1	W	6A - 10A	60	10/26/2022 - 10/26/2022	1D	2	\$130.00	2
;AM	DRIVE	1	1	1 1	l	1	1 1	I	ı
	2.2	w	10A - 3P	60	10/26/2022 - 10/26/2022	1D	3	\$105.00	3
;MII	DDAY	I	1	1 1					1
	2.3	W	3P - 7P	60	10/26/2022 - 10/26/2022	1D	3	\$140.00	3
;PM	DRIVE							·	· I
				** FL	IGHT TOTALS **		8	\$995.00	
		FLIGHT 3							
	3.1	Т	6A - 10A	60	10/27/2022 - 10/27/2022	1D	2	\$130.00	2

^{** 10/21/2022 5:31:00} PM: THIS IS A REVISED ORDER - I HAD THE ADVERTISER WRONG INITIALLY, SORRY.
DO NOT DOUBLE BOOK. PLEASE CONFIRM WITH CYNTHIA.FERRAZ@KATZMEDIA.COM

** 10/21/2023 6:21:00 PM: THIS IS A PRIMISED ORDER. DO NOT DOUBLE BOOK. PLEASE CONFIRM WITH

CONT# REP Oct 24, 22 36222180 Mod# Ver# 3 (Last =) KATZ RADIO

DDS CONT# 0

C/P/E: NLCG / NLCG / 2415

;AM	DRIVE	1			
	3.2	Т	10A - 3P	60 10/27/2022 - 10/27/2022 1D 3 \$105.00	3
;МІГ	DAY		1		
	3.3	Т	3P - 7P	60 10/27/2022 - 10/27/2022 1D 3 \$140.00	3
;PM	DRIVE	I	1		
				** FLIGHT TOTALS ** 8 \$995.00	
	4.1	FLIGHT 4	6A - 10A	60 10/28/2022 - 10/28/2022 1D 2 \$130.00	2
-AM	DRIVE		0A-10A	00 10/20/2022 - 10/20/2022 1D 2 \$130.00	_
,,,,,,,,	4.2	F	10A - 3P	60 10/28/2022 - 10/28/2022 1D 3 \$105.00	3
:MIE	DDAY	""" "	10,1 0,	13/23/23/23 13/23/23/23 13/23/23/23 13/23/23/23 13/23/23/23 13/23/23/23 13/23/23/23/23 13/23/23/23/23/23/23/23/23/23/23/23/23/23	
,	4.3	F	3P - 7P	60 10/28/2022 - 10/28/2022 1D 3 \$140.00	3
;PM	DRIVE	I	I		
				1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	
		FLIGHT 5			
	5.1	S.	6A - 10A	60 10/29/2022 - 10/29/2022 1D 2 \$40.00	2
;WK	ND 				
				** FLIGHT TOTALS ** 2 \$80.00	
	6.1	<u>FLIGHT 6</u> S	6A - 10A	60 10/30/2022 - 10/30/2022 1D 4 \$30.00	4
;WK	l .ND		l		
				** FLIGHT TOTALS ** 4 \$120.00	
				1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
		FLIGHT 7			
	7.1	М	6A - 10A	60 10/31/2022 - 10/31/2022 1D 3 \$130.00	3
;AM	DRIVE	1	1	1 1 1	5.5
	7.2	M	10A - 3P	60 10/31/2022 - 10/31/2022 1D 3 \$105.00	3
MIE;	DDAY			[]	
	7.3	М	3P - 7P	60 10/31/2022 - 10/31/2022 1D 3 \$140.00	3
PM;	DRIVE	<u></u>	[

Oct 24, 22

CONT# REP

36222180 Mod# Ver# 3 (Last =)

KATZ RADIO

DDS CONT# 0

C/P/E: NLCG / NLCG / 2415

			** FLIGHT TOTA	ALS **	9 \$1	,125.00
				1		
ſ	Oct 22	Nov 22	Ĭ —	I		
POTS	39	9				
ASH	4310.00	1125.00				
RADE	0.00	0.00				
SL	0.00	0.00				
DTAL [4310.00	1125.00				
Γ	ľ			I		TOTAL
POTS						48
ASH					· -	5,435.0
RADE						0.0
SL						0.0
OTAL						5,435.0

** Competitive Comments **

NED LAMONT WK OF 10.25 SVC: XXYY MSA ARBITRON

Demo Adults 35+

Nondiscrimination -Paragraphs 49 and 50 of the United States Federal Communications Commission's Report and Order No. 07-217 provides that broadcast stations' advertising contracts will not discriminate on the basis of race or ethnicity, and must contain nondiscrimination clauses. Consistent with this order, Katz Communications, Inc. (including any subsidiary or division of Katz) does not discriminate in any broadcast advertising contract on the basis of race or ethnicity and evaluates, negotiates and completes its broadcast advertising contracts without regard to race or ethnicity.

Connoisseur Media 440 Wheelers Farm Rd, Suite 302 Milford, Connecticut 06461 Phone: (203) 783-8200



Advertiser:

NED LAMONT FOR GOVERNOR

Order #:

176093753184 10/24/2022

Date Entered:

Last Modified:

10/24/2022

Product: 125 WEST 55TH STREET 3RD FLOOR Salesperson: WICC NLCG/NLCG/4215 Philadelphia Katz

NEW YORK, NY 10019

KATZ MEDIA GROUP

Billing Cycle: **Broadcast Standard**

Estimate #:

4215

Order Date Range: 10/25/2022 through 10/31/2022 (1 weeks) Media Outlets: WEZN-FM

On-Air Schedule

								_				_			
#	Dates	Station	Time/Program	Len	Mo	Tu	Иe	<u>Th</u>	<u>Fr</u>	<u>Sa</u>	<u>Su S</u>	/W	<u>Rate</u>	<u>Qty</u>	<u>Total</u>
1	10/25/22-10/25/22	WEZN-FM	06:00AM-10:00AM	30		Х			~-			3	130.00	3	390.00
2	10/25/22-10/25/22	WEZN-FM	10:00AM-03:00PM	30		X		55				3	105.00	3	315.00
3	10/25/22-10/25/22	WEZN-FM	03:00PM-07:00PM	30		X					**	3	140.00	3	420.00
4	10/26/22-10/26/22	WEZN-FM	06:00AM-10:00AM	30			Х	45			**	2	130.00	2	260.00
5	10/26/22-10/26/22	WEZN-FM	10:00AM-03:00PM	30			Х					3	105.00	3	315.00
6	10/26/22-10/26/22		03:00PM-07:00PM	30			X					3	140.00	3	420.00
7	10/27/22-10/27/22		06:00AM-10:00AM	30				X				2	130.00	2	260.00
8	10/27/22-10/27/22		10:00AM-03:00PM	30				Х				3	105.00	3	315.00
9	10/27/22-10/27/22		03:00PM-07:00PM	30				Х				3	140.00	3	420.00
10	10/28/22-10/28/22		06:00AM-10:00AM	30					Х			2	130.00	2	260.00
11	10/28/22-10/28/22		10:00AM-03:00PM	30			-41		Х			3	105.00	3	315.00
12			03:00PM-07:00PM	30				-	X		2.2	3	140.00	3	420.00
13			06:00AM-10:00AM	30						х	44	2	40.00	2	80.00
14			06:00AM-10:00AM	30							Х	4	30.00	4	120.00
15			06:00AM-10:00AM	30	Х		-	-			1,2	3	130.00	3	390.00
16			10:00AM-03:00PM	30	×							3	105.00	3	315.00
	10/31/22-10/31/22		03:00PM-07:00PM	30	Ŷ						-	3	140.00	3	420.00
17	T0/31/22-10/31/22	**EZIN-FIM	03:00FM-07:00FM	30	^						-		140,00	2	.20100

Station Totals

Station	On-Air CountDigital Coun	t Wel	b Count Other	Count	Gross BillingC	<u>ommission</u>	Net Billing
WEZN-FM	48	5	0	0	\$5,435.00	\$815.25	\$4,619.75
Totals	48 ()	0	0	\$5.435.00	\$815.25	\$4,619.75

Total Charges:

\$5,435.00 \$815.25

Agency Commission:

Total Net: \$4,619.75

This station does not discriminate in the sale of advertising time, and will accept no advertising that is placed with an intent to discriminate on the basis of race or ethnicity. Advertiser hereby certifies that it is not buying broadcasting air time under this advertising sales contract for a discriminatory purpose, including but not limited to decisions not to place advertising on particular stations on the basis of race, national origin, or ancestry.

	Projected Billi	ing By Broadcast Standard Mont	h _
Month	Year	Gross Billing	Net Billing
October	2022	\$4,310.00	\$3,663.50
November	2022	\$1,125.00	\$956.25
Totals		\$5,435.00	\$4,619.75

Accepted for Connoisseur Media

Accepted for advertiser OR agency as agent for the advertiser

Name

Title

Name

Title